1-Quiz
which of the following cell subpopulation is the highest in pituitary gland?

n Somatotrophs v
n Corticotriophs X
u Lactotrophs X
u Gonadotrops. X
2-Quiz

which of the following hormones is delivered via hypophyseal portal circulation

3-Quiz
Which of the following is superior to the pituitary gland?

n Optic nerve only.

u Oculomotor nerve.
D Optic chiasm v
u basilar artery. »

4 -Quiz
What is not seen in this image?

n secretory cells X
u capsule v
u sinusoids. x
n endothelial cells X



5 - Quiz
Removal or loss of this tissue will lead to the following consequences:

absence of TSH

absence of TRH

absence of the stimulation to thyrotrophs

negatively affect breastfeeding.




